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Current Trends in Accounting (UBOGECOMO02/18)
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Note: Figures to the right indicate marks of question.
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Explain the meaning of Inflation Accounting. State the difference between [15]
“Current Cost Accounting” and “Current Purchasing Power Accounting”.
OR
[15]

Write note on:
1. Historical Cost

2. Present value replacement cost

Define Human Resource Accounting. Explain its advantages and limitations.

OR
Discuss various methods of Valuing Human Resource.

Write a note on: IIuman Resource as an asset.

What is Social Accounting? Discuss the hurdles of social accounting in
detail.
OR

State various presentation models of social accounting by Indian Companies.

Define Responsibility Accounting. Explain its advantages and limitations.

OR
Describe the following R.esponsibilit_v Centre related to Responsibility
Accounting:
(A)Profit Centre
(B) Cost Centre

(C) Investment Centre

[15]

[10]
[05]

[15]

S




[A-47-GUJ] Seat No: No. of Printed Page:1

SARDAR PATEL UNIVERSITY
B. Com. ( VI" SemesterL(NC-2010) Examination
Monday, 9" May, 2016
2.30 — 4.30 pm
UBOGECOMO02/18

Current Trends in Accounting

aller: el oligyoll 2iiss! Uastall el €x1id 8.

. gonaical Rauiell ugell e 2piadl. “ddlel uscR Ugld” 2l “adtel
vdle 2l5d B0l U&A’ 9Aell dgiga 4.
21
U4 dllg vl
(1) ddeiRis uscr
(R) Yot:2&1Uoll UScRef dchlal 3¢ (Present Value replacement Cost)

U.2 Hidd 24uUfRiell Bruiellofl curvall AN\, dell dieiidier 4.
21Y4q]

U.R

() lotdt RAURIell yRlisololl ARG Ul .

(c1) oiler @vil: Hidd 24U s Masd a3’

u.3 APIYs Rl ugld Ned gf 7 APIYs Baiofl ugld il (A
(2isuel)ofl [@21d Ul 531,
Y|
u.z cirRdla Sudllail gl AriYSs @il ugld 21 2% suni AHidal QA
A13dl (models) «@iidl.

wy waieiedlas] [Baaefl uaiefl vl 2. dotl diet 2ia HATERA A4d.
Yq]
.y wgioiedlae Raiefl ygld 2idlet oflAell it Sogl geidl.
(1) otsl Bog '
(o1) uscR do%
(s) 2As1e1 Bos
©EO

§d 2RIk §0

(1)

(1)

(1)

(0)
(ou)

(2v)

(1)

()
()




